




01. A  B = {(3, 2), (3, 4), (5, 2), (5, 4)} A 

     B 

A = {3, 5}
B = {2, 4}




02. B  A = {(-2, 3), (-2, 4), (0, 3), (0, 4), (3, 3), (3, 4)}
A, B

A = {3, 4}
B = {-2, 0, 3}

03. A = {2, -2, 3}, B = {1, -4}  A  B, A  A,
      B  A

 A  B =  {2, -2, 3} {1, -4}
           = {(2, 1), (2, -4), (-2, 1), (-2, -4), (3, 1), (3, -4)}
 A  A  = {2, -2, 3} {2, -2, 3}

= {(2, 2), (2, -2), (2, 3), (-2, 2), (-2, -2), (-2, 3),
                (3, 2), (3, -2), (3, 3)}
 B  A =  {1, -4}  {2, -2, 3}

= {(1, 2), (1, -2), (1, 3), (-4, 2), (-4, -2), (-4, 3)}

04. A = B = {p, q}A  B, A  A, B  A

A = {p, q}
B = {p, q}

 A  B = {p, q} {p, q}
= {(p, p), (p, q), (q, p), (q, q)}

 A  A = {p, q} {p, q}
= {(p, p), (p, q), (q, p), (q, q)}

 B  A  = {p, q} {p, q}
= {(p, p), (p, q), (q, p), (q, q)}

05. A = {m, n}, B =  A  B, A  A, B  A


A = {m, n},
B = 

 A  B = {m, n}  { }
= { }

 A  A = {m, n}   {m, n}
= {(m, m), (m, n), (n, m), (n, n)}

 B  A = { } {m, n}
= { }

06. A = {1, 2, 3},

      B ={x / x 10 } 

      A  B, B  A

A = {1, 2, 3}, B = {2, 3, 5, 7}

 A  B = {1, 2, 3} {2, 3, 5, 7}

= {(1, 2), (1, 3), (1, 5), (1, 7), (2, 2), (2, 3),

                (2, 5), (2, 7), (3, 2), (3, 3), (3, 5), (3, 7)}

 B  A = {2, 3, 5, 7} {1, 2, 3}

= {(2, 1), (2, 2), (2, 3), (3, 1), (3, 2), (3, 3),

                (5, 1), (5, 2), (5, 3), (7, 1), (7, 2), (7, 3)}

07. A = {1, 3, 5}, B = {2, 3} (i) A  B,  B  A

(ii) A  B = B  A 

        (iii) n(A  B) = n(B  A) = n(A)  n(B) 

A = {1, 3, 5},

B = {2, 3}

 A  B = {(1, 2), (1, 3), (3, 2), (3, 3), (5, 2), (5, 3)}

 B  A = {(2, 1), (2, 3), (2, 5), (3, 1), (3, 3), (3, 5)}

n(A  B)  n(B  A)
      n(A  B) = 6
      n(B  A) = 6
  n(A)  n(B) = 3  2 = 6
n(A  B) = n(B  A) = n(A)  n(B) 

08. R {(x, y) / y = x + 3, x {0,1,2,3, 4,5}}





R = {(0, 3), (1, 4), (2, 5), (3, 6), (4, 7), (5, 8)}

= {0, 1, 2, 3, 4, 5}

 = {3, 4, 5, 6, 7, 8}

09. A={1, 2, 3, 4, 5,... 45} R A

“”

R AA    R



     R = {(1, 1), (2, 4), (3, 9), (4, 16), (5, 25), (6, 36)}

= {1, 2, 3, 4, 5, 6}

 = {1, 4, 9, 16, 25, 36}
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10. {(x, y) / x = 2y, x {2, 3, 4, 5}, y {1, 2, 3, 4}}

       (i)  (ii)

      (iii)

(i) 
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(ii)

(iii)

R = {(2, 1), (4, 2)}
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11. {(x, y)/y = x+3, x, y< 10}

       (i)  (ii)

      (iii)

(i) 

(ii)














(1, 4)

(2, 5)

(3, 6)

(4, 7)

(5, 8)

(6, 9)

X

Y

O


1
2
3
4
5
6
7
8
9

1
2
3
4
5
6
7
8
9

>
>

>
>

>
>

x                  y

(iii)

R = {(1, 4), (2, 5), (3, 6), (4, 7), (5, 8), (6, 9)}

12. P Q

  



(i) 

R = {(x, y)/y = x - 2, x P, y Q}

(ii) 

{(5, 3), (6, 4), (7, 5)}

(iii)  = {5, 6, 7}

(iv) = {3, 4, 5}

13. X = {1, 2, 3, 4}, Y = {2, 4, 6, 8, 10}  

R = {(1, 2), (2, 4), (3, 6), (4, 8)} R 

 






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 

X 



= {1, 2, 3, 4}

= {2, 4, 6, 8, 10}

= {2, 4, 6, 8}
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14. f : x  y  f(x) = x2 - 2 
 X = {-2, -1, 0, 3}Y = R
 (i) f-

(ii) f 

f(x) = x2 - 2
f(-2) = (-2)2 - 2 = 4 - 2 = 2
f(-1) = (-1)2 - 2 = 1 - 2 = -1
f(0) = 02 - 2 = 0 - 2 = -2
f(3) = 32 - 2 = 9 - 2 = 7

(i) f = {(-2, 2), (-1, -1), (0, -2), (3, 7)}
(ii) X 



15. f ={(x, y) / x, y N y = 2x} N

 



f = {(1, 2), (2, 4), (3, 6), (4, 8), . . . . . . .}
= {1, 2, 3, 4, .....}

= {1, 2, 3, 4, .....}

= {2, 4, 6, 8, .......}

X 





16. f(x) = 2x + 5 x  0  x
fxf )2()2( 





f(x) = 2x + 5
f(x + 2) = 2(x+2) + 5

  = 2x + 4 + 5
  = 2x + 9

      f(2) = 2(2) + 5
  = 4 + 5
  = 9

x
fxf )2()2( 

 =  x
x 992 

   =  x
x2

   = 2

17. 500 

‘d’ 

t 

=

  500 = 
t
d

      d = 500t





18. A = {-2, -1, 0, 1, 2}, f : A  B  

f(x) = x2 + x + 1 B

f(x) = x2 + x + 1

f(-2) = (-2)2 + (- 2) + 1 = 4 - 2 + 1 = 3

f(-1) = (-1)2 + (- 1) + 1 = 1 - 1 + 1 = 1

 f(0) = (0)2 + 0 + 1 = 0 + 0 + 1 = 1

f(1) = (1)2 +  1 + 1 = 1 +1 + 1 = 3

f(2) = (2)2 +  2+ 1 = 4 +2 + 1 = 7

B = {1, 3, 7}







19. f : N  N  f(x) =  3x + 2, x N



(i) 1, 2, 3-

(ii) 29, 53-

(iii) 

f(x) =  3x + 2

f(1) = 3(1) + 2 = 5

f(2) = 3(2) + 2 = 8

f(3) = 3(3) + 2 = 11

(i) 1, 2, 3- = 5, 8, 11

3x + 2 = 29 3x + 2 = 53

       3x = 29 - 2        3x = 53 - 2

       3x = 27        3x = 51

          x = 9          x = 17

(ii) 29= 9,      53= 17

(iii) 
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20. f = {(1, 2), (2, 2), (3, 2), (4, 3), (5, 4)} 

 (i)  (ii)

(iii)

(i) 

(ii)

x 1 2 3 4 5

f(x) 2 2 2 3 4

x                                   y

(iii)

>

>

x

y

21. f (x) =  352 2  xx  



g(x) = x
h(x) = 2x2 - 5x + 3 

gh = 352 2  xx

22. f (x) = x2 -1 (i) fof (ii) fofof 

f (x) = x2 -1

     (i)    fof  =  f(x2 -1)

        = (x2 -1)2 - 1

        = x4 - 2x2  + 1 -1

        = x4 - 2x2

   (ii)  fofof  =  f(x4 - 2x2)

        =  (x4 - 2x2)2 - 1

23. ff (k) = 5, f (k) = 2k - 1 k



            ff (k) = 5

    (2k - 1) o (2k - 1)  =  5

             2(2k - 1) - 1  =  5

      4k - 2 - 1  =  5

           4k - 3   =  5

    4k    =  5 + 3

                4k    =  8

      k    =  2
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24. f (x) = 3x - 2, g(x) = 2x + k  fg gf

k

                 fg = gf

    (3x - 2) o (2x + k)  =   (2x + k) o (3x - 2)

             3(2x + k) - 2  =   2(3x - 2)  + k

    6x + 3k - 2  =   6x - 4  + k

           3k - 2   =  - 4  + k

                     3k - k     =  -4 + 2

                2k    =  -2

      k    =  -1

25.     



 (S)  = {(1, 1), (1, 2),  . . . . (6, 6)}

    n(S)  = 36

26.



 (S) = {1, 2, 3, 4, 5, 6}

    n(S)  = 6

27.    



 (S) = {HH, HT, TH, TT}

    n(S)  = 4

28.



 (S) = {HHH, HHT, HTH, HTT

                            THH, THT, TTH, TTT }

    n(S)  = 8

29.        

    




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 (S)  = {(1, 2),(1, 3), (1, 4), (1, 5), . . (6, 5)}

    n(S)  = 30

30.    





  S = {HHH, HHT, HTH, HTT, THH, THT, TTH, TTT }

    n(S)  = 8

A = {HTT, TTH, TTT}

           n(A)  = 3

                                   P(A) 
8
3
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31.





S = {HH, HT, TH, TT}

    n(S)  = 4

                     A= {HT, TH}

           n(A)  = 2

                                   P(A) 
2
1

4
2
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32.  

    

   



S = {1H, 2H, 3H, 4H, 5H, 6H, 1T, 2T, 3T, 4T, 5T, 6T}

    n(S)  = 12



                     A= {1H, 3H, 5H}

           n(A)  = 3

                                   P(A) 
4
1

12
3
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33.  



S = {

           

}

    n(S)  = 7



                     A = {}

           n(A)  = 2

                                   P(A) 
7
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34.



    (i)  

(ii) 

    n(S)  = 5 +  4 = 9

(i) 

           n(A)  = 5

                                   P(A) 
9
5
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(ii) 

           n(B)  = 4

                                   P(B) 
9
4


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35.1, 2, 3, ....12



(i) 7(ii) (iii)



   S  = {1, 2, 3, . . . . 12}
n(S)  = 12
(i) 7 

           n(A)  = 1

                                   P(A) 
12
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(ii) 

                         B  = {2, 3, 5, 7, 11}
           n(B)  = 5

                                   P(B) 
12
5



(iii) 

                         C  = {4, 6, 8, 9, 10, 12}
           n(C)  = 6

                                   P(C) 
2
1
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39. ab  ba = 800a, b 

   800 = 25  52

                    = ab  ba

           a = 2, b = 5

800
400
200
100
50
25
5

2
2
2
2
2
5

40.  13824= 2a 3b a, b 

   13824 = 29 33

                    = 2a 3b

           a = 9, b = 3

13824
6912
3456
1728
864
432
216
108
54
27
9
3

2
2
2
2
2
2
2
2
2
3
3

36.      





   S  = {}
n(S)  = 4



    A  = {}

n(A)  = 3

           P(A) 
4
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37. P(A) = 0.37, P(B) = 0.42, P(AB) = 0.09 

P(AB)

P(AB) =  P(A) + P(B) -  P(AB)

   = 0.37 + 0.42 - 0.09

   = 0.7

38. P(A) = 3
2

 , P(B) = 5
2

, P(AB) = 3
1

 

P(AB)

P(AB) =  P(A) + P(B) -  P(AB)

           3
1

= 3
2

 + 5
2

 - P(AB)

P(AB) = 3
2

 + 5
2

 -   3
1

   = 15
5610 

   = 15
11







41) 



   1, 2, 3, 4, 5, 6, 7, 8, 9, 10

 = 2520

6, 7, 8, 9, 10

3, 7, 4, 9, 5

1, 7, 4, 3, 5

2

3

42) 3, 6, 9, 12, . . . . 111



  3, 6, 9, 12, . . . . 111

a = 3, d = 6 - 3 = 3, l = 111

           

37
136

1
3

108

1
3

3111

1
















n

d
aln

   

   

   

43) 16, 11, 6, 1, ........ 

- 54

  16, 11, 6, 1, ........ - 54

a = 16, d = 11 - 16 = - 5, l = - 54

           

15
114

1
5
70

1
5

1654

1





















n

d
aln

   

   

   

44) -11, -15, -19, ........ 

     19

  -11, -15, -19, ........

a = - 11, d = -15 + 11 = - 4, n = 19

  tn = a + (n - 1)d
 t19 = - 11+ (19 - 1) (-4)
      = - 11 + 18 (-4)
      = - 11 - 72
t19 = - 83

45) x, 10, y, 24, z 

x,  y,  z 

17
2

34
2

2410



y

         

3
1720

2017

10
2
17









x
x

x

x

       

       
        

31
1748

4817

24
2

17









x
z

z

z

       

       

x = 3
y = 17
z = 31

46) 3 + k, 18 - k, 5k + 1 

k 

(18 - k) - (3 + k) = (5k + 1) - (18 - k)

                  18 - k - 3 - k = 5k +1 - 18 + k

                           15 - 2k = 6k - 17

                          15 + 17 = 6k + 2k

                                  32 = 8k

                                    k = 4

47) 281 17

  29  x (17)

512  2 (17)

           (29)9  29 (17)

281  512 (17)

 281  2 (17)

 =  2
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48.









Nnn

Nnnn
an

   

 

,1

),3(
2

1118

  an = n(n+3)
 a11 = 11 (11+3)
      = 11 (14)
      = 154
 an = n2 + 1
 a18 = 182 + 1
      = 324 + 1
     = 325





49.
















Nn
n
n

Nn
n

-n

an

   

     ,

,
12

3
1

2

2

a8 a15 

  an = 
3
12




n
n

 a8 = 
38
182




      = 38
164




      = 
11
63

            a15 = 
12

2

n
n

 a15 = 1)15(2
152



      = 130
225


      = 
31

225





50.   

     



   

 



  22.30 + 32  x ( 24)

          54.30   6.30 ( 24)

   



51. 

   





  2 + 45  x ( 7)
          47   5 ( 7)


52. “

”

“”
“



” 





        1 - 75  x ( 7)
          - 74   3 ( 7)


53.  .......
3
113 

a = 3, r = 
3
1

1

2 
t
t

r
as


 1







                     2
9

3
2
3

3
11

3





54. 0.666... . 



                    x = 0.666.... 

10x = 6.666.....
      ( - )    x = 0.666....

   9x = 6.0

                 3
2

9
6
x

      0.666.... =  3
2

55. 1 + 3 + 5 + ..... 40 

 = n2

                       = 402

           = 1600
56. 1 + 3 + 5 + ..... + 55 

28
2

56
2

155



n

 = n2

                        = 282

            = 784
57. 1 + 2 + 3 + ..... + n = 666 n 

666
2

)1(


nn

n (n + 1)  = 666   2
n (n + 1)  = 1332
   36  37 = 1332

   n = 36
58. 1 + 2 + 3 + ..... + k = 325 

       13 + 23 + 33 + ..... + k3  

k = 325
k3 = (325)2

           = 105625

59. 13 + 23 + 33 + ..... + k3 = 44100 

       1 + 2 + 3 + ..... + k 

k3  = 44100
k  =  44100

k  = 210
60. 13 + 23 + 33 + ..... 

14400 

k3  = 14400

 14400
2

)1( 2







 nn

        120
2

)1(


nn

61. 







     a = bq + r
532   =  21 (25) + 7

 = 25

 = 7
62. 



x 

x + 1
         a = bq + r
x + 1   =  x (1) + 1

 0
    x    =   1 (x) + 0

 0
 1


63. 252525  363636   



        5  252525         6   363636
        5    50505          6     60606

    10101                 10101
= 10101

n(n+1) = 240
15 x 16 = 240
n = 15









x2 - () x + () = 0
                     x2 + 9x + 20 = 0

68)  3
5
 , 4 



 = 3
5

= 4



x2 - () x + () = 0

                       x2 - 3
5

x + 4 = 0

        3x2 - 5x + 12 = 0

69)  2
3 
, -1 



 = 2
3 

= - 1


x2 - () x + () = 0

                       x2 + 2
3

x - 1 = 0

             2x2 + 3x - 2 = 0
70) 9 , 14 



 = 9
= 14


x2 - () x + () = 0
                       x2 - 9x + 14 = 0

71)  2
7

,  2
5

 



 = 2
7

= 2
5

64. 9, 15, 21, 27, . . . . 183 



       a = 9, d = 15 - 9 = 6, l = 183

        

30  

1  29    
6

174
    

6
9 - 183

    













n

d
aln

1

1

1

        tn = a + (n-1) d
        t15 = 9 + (15 -1) 6

 = 9 + 14 6
= 9 + 84
= 93

       t16 = 93 + 6
= 99

65)  
xx

x



2

2 1


x
x

xx
xx

xx
x

1
)1(

)1)(1(1
2

2











          

66)  
9
3

2 


x
x



3
1

)3)(3(
3

9
3

2











x

xx
x

x
x

          

67) -9, 20 



 = - 9
= 20







 = 3
1
3






a
b

= 0
1
0


a
c

76) 3y2 - y - 4 = 0 



3y2 - y - 4 = 0
ax2 + bx + c = 0
a = 3, b = - 1, c = - 4

 = 3
1



a
b

= 3
4


a
c

77)  


5
24



 
5

24
5
15

5
241




x

x

      x = 5

78) x2 - x - 20 = 0 

x2 - x - 20 = 0
ax2 + bx + c = 0
a = 1, b = -1, c =- 20

        b2 - 4ac = (-1)2 - 4  1  (-20)
                      = 1 + 80 = 81

          = + ve


79) 9x2 - 24x + 16 = 0 



9x2 - 24x + 16 = 0
ax2 + bx + c = 0
a = 9, b = -24, c = 16

        b2 - 4ac = (-24)2 - 4  9  16
                      = 576 - 576 = 0

       



x2 - () x + () = 0

                     x2 + 2
7

x + 2
5

 = 0

          2x2 + 7x + 5 = 0
72) x2 + 8x - 65 = 0   



x2 + 8x - 65 = 0
ax2 + bx + c = 0
a = 1, b = 8, c = -65

 = 8
1
8






a
b

= 65
1
65





a
c

73) 2x2 + 5x + 7 = 0   



2x2 + 5x + 7 = 0
ax2 + bx + c = 0
a = 2, b = 5, c = 7

 = 2
5



a
b

= 2
7


a
c

74) x2 + 3x - 28 = 0   



x2 + 3x - 28 = 0
ax2 + bx + c = 0
a = 1, b = 3, c =- 28

 = 3
1
3






a
b

= 28
1
28





a
c

75) x2 + 3x = 0 



x2 + 3x = 0
ax2 + bx + c = 0
a = 1, b = 3, c = 0







80) 2x2 - 2x + 9 = 0 

2x2 - 2x + 9 = 0
ax2 + bx + c = 0
a = 2, b = -2, c = 9

        b2 - 4ac = (-2)2 - 4  2  9
                      = 4 - 72
                      = - 68 = - ve

       

81) 15x2 +11x+2=0   



15x2 +11x + 2 = 0
ax2 + bx + c = 0
a = 15, b = 11, c = 2

        b2 - 4ac = (11)2 - 4  15  2
                      = 121 - 120
                      = 1 = + ve

       

82) x2 - x - 1 =0 

x2 - x - 1 =0
ax2 + bx + c = 0
a = 1, b = - 1, c = - 1

        b2 - 4ac = (-1)2 - 4  1  (-1)
                      = 1 + 4 = 5 = + ve

       

83) 02332 2  tt 



02332 2  tt 
 ax2 + bx + c = 0

232   c 3,-   b, a
        b2 - 4ac = 2324)3( 2  

                      = 9 - 24  = -15
          = - ve
       

84) x2 + 8x +12    



x2 + 8x +12 = 0
(x + 2) (x + 6) = 0
 x = -2, x = -6

85. 18 



 



 

1   18 1   6
18  1 6   1
2   9 2   3
9   2 3   2
3   6
6   3

86. aij = i2j2  3   3


aij = i2j2

A =  















333231

232221

131211

aaa
aaa
aaa

a11 = 12  12 = 1  1 = 1
a12 = 12  22 = 1  4 = 4
a13 = 12  32 = 1  9 = 9
a21 = 22  12 = 4  1 = 4
a22 = 22  22 = 4  4 = 16
a23 = 22  32 = 4  9 = 36
a31 = 32  12 = 9  1 = 9
a32 = 32  22 = 9  4 = 36
a33 = 32  32 = 9  9 = 81

A =  
















81369
36164
941

87. aij = |i - 2j| 3   3 



aij = |i - 2j|

A =  















333231

232221

131211

aaa
aaa
aaa







a11 = |1 - 2(1)| = | 1 - 2 | = |- 1| = 1
a12 = |1 - 2(2)| = | 1 - 4 | = |- 3| = 3
a13 = |1 - 2(3)| = | 1 - 6 | = |- 5| = 5
a21 = |2 - 2(1)| = | 2 - 2 | = 0
a22 = |2 - 2(2)| = | 2 - 4 | = |- 2| = 2
a23 = |2 - 2(3)| = | 2 - 6 | = |- 4| = 4
a31 = |3 - 2(1)| = | 3 - 2 | = |1| = 1
a32 = |3 - 2(2)| = | 3 - 4 | = |-1| = 1
a33 = |3 - 2(3)| = | 3 - 6 | = |-3| = 3

A =  
















311
420
531

88. A =  

















283
971
345

A



A =  

















283
971
345

AT =  

















293
874
315

89. A = 





















53
25
37

 - AA



A =  





















53
25
37

 - A =  





















53
25

37

AT =  











523
357

90. A = 

















138
2

57.017
225

(AT)T  = A



AT =  














 

12
52

37.02
8175

(AT)T = 

















138
2

57.017
225

= AA



91. A = 























11186
0341
52

371
3498

 

(i) (ii) 

(iii) a22, a23, a24, a34, a43, a44 



(i) = 16
(ii) = 4 4

(iii) a22 = 7 , a23 = 2
3

 , a24 = 5, a34 = 0,

       a43= -11 a44 = 1

92. A = 















987
654
321

 , B = 















042
131
071

 A + B



A + B = 















987
654
321

 + 















042
131
071

                   = 















9129
785
392







93. A = 
















 134
931
687

, B = 



















057
421
3114

 2A + B



       2A + B = 2
















 134
931
687

 + 



















057
421
3114

           = 
















 268
1862
121614

 + 



















057
421
3114

          = 
















 2111
2281
92718

94. A = 














 

491
24

3
2

1
245

, B = 




















965
32

7
4

1
347

 

4A - 3B 

4A - 3B = 4 














 

491
24

3
2

1
245

- 3 




















965
32

7
4

1
347

               = 














 

16364
2432
81620

+ 





















271815
92

21
4

3
91221

= 



















115411
9242

15
4

5
1441

95. A = 







738
940 , B = 








941
837  

      (i) B - 5A (ii) 3A - 9B 

(i) B - 5A =  







941
837 - 5 








738
940

                 = 







941
837 +  











351540
45200

     = 










261139
37177

(ii) 3A - 9B = 3 







738
940 - 9 








941
837

  = 







21924
27120  + 











81369
722763

 = 










602715
451563

96. A = 







513
021 , B =

















135
142
138

 AB



           AB  =  







513
021

















135
142
138

                 = 










513154925224
021083048

     = 







92851
31112

97. A = 







13
21 , B = 











13
21   

AB = BA 

           AB  =  







13
21












13
21

                 = 










1633
2261

     = 










50

05
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         BA  =  










13
21









13
21

                 = 










1633
2261

     = 










50

05

          AB = BA 

98. A = 







 
22

222 , B = 









 22
222  

 

           AB  =  







 
22

222









 22
222

                 = 












442222
242444

     = 







80
08

         BA  =  









 22
222








 
22

222

                 = 











442222

242444

     = 







80
08

          AB = BA 

99. A = 







31
12 , B = 








31
02   AB, BA  

AB = BA 

           AB  =  







31
12









31
02

                 = 










9032
3014

     = 







95
35

         BA  =  







31
02









31
12

                 = 










9132
0204

     = 







105
24

            AB  BA

100.  A = 







34
52 , B = 







 
52
31   AB, BA

AB = BA 

           AB  =  







34
52








 
52
31

                 = 










151264
256102

     = 







310

1912

         BA  =  






 
52
31









34
52

                 = 










1510204
95122

     = 






 
2524

410

            AB  BA

101. A = 










cossin
sincos   AAT = I 



AT = 










cossin
sincos

AAT = 










cossin
sincos












cossin
sincos

= 











22

22

cossincossincossin
cossincossinsincos
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= 







10
01

= I  

102. A = 










56
45

  AA2 = I 

           A2 =  










56
45












56
45

= 










25243030
20202425

= 







10
01

= I  

103. Ap  q B

      q   r

       AB, BA 

AB= p  r
BA

104) ABC, PQR

36 24
PQ = 10 AB

A

36

B                      C

P

24

Q                 R

10
?

24
36


PQ
AB

24
36

10


AB 3

25

AB = 15 

105) ABC, DEFBC = 3 

    EF = 4 ABC = 54 2 

DEF

A

54

B                 C3

D

?

E                      F4

            DEFEF
BC




54
2

2

         DEF
 54

4
3

2

2





        
        

DEF


54
16
9 6



DEF = 16 6 = 96 2

106) ABCAB AC

 D E DE|| BC

       4
3


DB
AD

AC = 15 

AE

 EC
AE

DB
AD



x
x



154

3

3(15 - x) = 4x
   45 - 3x = 4x

                       45 = 4x + 3x
                       45 = 7x

            7
45

x 

A

D              E

B                             C

3         x

       4                        15 - x

15







107) 18 24 




AC2 = 242 + 182

= 576 + 324
= 900

AC = 30 

A

B                           C

24

18

108) 4 

     7 



AC2 = 72 + 42

= 49 + 16
= 65

AC = 65
= 8.1 

A

B                           C

7

4

109) 3 

5



AB2 = 52 - 32

= 25 - 9 = 16
AB = 4

= 4 

53

B

110) 







111) 

P, Q, R



 1
RB
AR

QA
CQ

PC
BP

112) 

P, Q, R



 1
RB
AR

QA
CQ

PC
BP

113) 25 

   P  

24



OA2 = 252 - 242

= 625 - 576
= 49

OA = 7
= 7 

25

24 

R                    Q

P







114) ‘O’ PQ 

PR   PQ
P 50POQ


OPQ = 90 - 50
            = 40
OQP = 40

[   OP = OQ]
POQ + 40+ 40 = 180
 POQ + 80 = 180

POQ  = 180- 80
100

115) ST B 

 ABT = 65AB 

OB  ‘O’ 



ABO = 90 - 65
            = 25
OAB = 25

[   OA = OB]
AOB + 25+ 25 = 180
 AOB + 50 = 180

AOB  = 180- 50
130





116)     

     





      OA = 22 68 

            = 3664

= 100
 = 10

= 10 

117) 

     

   



            AC = 22 45 

                  = 1625

= 9
         = 3

= 3 + 3 = 6 

118) ABC 

BC







NB = 4 cm
 BL  = 4 cm

AN = 3 cm
AM  = 3 cm
  CM  = 9 - 3 = 6 cm
CM  = 9 - 3 = 6 cm

BC = 4 + 6 = 10 cm
119)   

      48 
       

    30o 

 A

B                                           C
30o48 







          
tan 



316
3

348
3
3

3
48
483

1
48

30tan
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AB
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

120)    



43 

 

30o 



          
tan 



BC

BC
34

3
1

3430tan





     



12
34

334






      

      

BC

= 12 + 12 = 24 

121) 103 30

  



A

B                                           C
30o

43 

D

A

B                                           C30 

103 

          
tan 



o

o
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3

130tan

3
1

33
3

3
31

30
310tan










122)    75 



    

60o 

          
sin 



A

B                                           C
60o

75 

350
3

3150
3
3

3
150

3
275

75
2
3

7560sin












AC

AC

AC

AC

   

    

     



350







124) 503 

30o 

   



A

B                                           C
30o

503 

) 30 o

123) 20   



60o 



3 = 1.732) A

B                                           C
60o

20 

) 60 o

          
tan 
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tan 


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3503350
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35030tan
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125. tan2sin2 = tan2sin2  

tan2sin2 = 

 2

2

2
sin

cos
sin

= 



 


 1

cos
1sin 2

2

= sin2sec2

= sin2tan2

126. 



cot    cosec  
 cos
 cos

1
1



  
θ
θ

  
θ
θ

  
θ
θ
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cos1

cos1
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cos1










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θ
θ

 2

2

cos1
)cos1(






 
θsin

 θ
 2

2)cos1( 


sinθ
 θcos1



  
sin θ

θ
  

sin θ
 

cos1


cot θ   θcosec 


127.  



an  sec  
sin
sin t

1
1



  
sinθ
sinθ

  
sinθ
sinθ

  
sinθ
sinθ












1
1

1
1

1
1

  
θsin

sinθ
 2

2

1
)1(






  
θcos

sin θ
 2

2)1( 


   
cosθ

sin θ


1
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  
cos θ
sin θ

  
cos θ

 
1

 tan θ   θsec 


128.  







2sec 
sin
sin

  
sin
sin

1
1

1
1



  
sinθ
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


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


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cosθ

sin θ
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  
cos θ
sin θ

  
cos θ

 
1

 tan θ   θsec 


 

 tan

1
1
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sin
sin







 tantan

1
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1
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1
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1
1
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129) (-3, 5), (5, 6), (5, -2) 



1 321

1   321

y   y   y   y

x  x   x   x
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1A

A = 32 

130) (1, -1), (-4, 6), (-3, -5)   


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A = 24 

131) (-10, -4), (-8, -1), (-3, -5) 


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132) P(-1.5, 3), Q(6, -2), R(-3, 4) 


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

133) (-½, 3), (-5, 6), (-8, 8)   


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

134) (-3, -4), (7, 2), (12, 5)   



1 321

1   321

y   y   y   y

x  x   x   x

2
1

A


4-524-

3-1273-
  

2
1



|)152428()48356(
2
1

 |A

|15242848356|
2
1

A

0 
2
1A

A = 0


135) (-2, 5), (6, -1), (2, 2)   



1 321

1   321

y   y   y   y

x  x   x   x

2
1

A


521-5

2-262-
  

2
1



|)4230()10122(
2
1

 |A

|423010122|
2
1

A

0 
2
1A

A = 0


136) A(-1, 2), B(k, -2), C(7, 4) 

22 

k 

 A = 22

22
2
1


1 321

1   321

y   y   y   y

x  x   x   x
A

 222
242-2

1-71-
  

k







44)4142()1442(  kk
 2 + 4k + 14 - 2k + 14 + 4 = 44
                           2k + 34 = 44

      2k = 44 - 34
      2k = 10
        k = 5

137) (-6, 1),  (-3, 2) 


(m) = 
12

12

xx
yy




                          = 63
12



   = 
3
1

138) (5, 5) 


(m) = 
12

12

xx
yy




                          = 
55

5
50
50







   = 5
1

139) (5, ) (i) x-
     (ii) y- 


(5, 7)
x- y = k

y = 7
y- x = k

x = 5
140) (1, -5),  (4, 2)
   

     (i) x-(ii) y-


 = 





 

2
,

2
2121 yyxx

                          = 





 

2
25,

2
41

(-6, 1),  (-3, 2)
  x1, y1       x2, y2

(5, 5), (0, 0)
  x1, y1       x2, y2

-x 
y 

   = 





 

2
3,

2
5

x- y = k

y = 2
3

         2y = -3
  2y + 3 = 0

y- x = k

x = 2
5

         2x = 5
               2x - 5 = 0

141) 8x - 7y + 6 = 0 y 



8x - 7y + 6 = 0

 =                 

= 7
8




= 
7
8

y =                 

= 7
6




= 
7
6

142) 4x - 9y + 36 = 0 



 4x - 9y + 36 = 0

x =                 

= 
4
36

= - 9

           y =                 

- 

y 

x 

- 

- 

y 







= 9
36



= 4
143) (5, -3),  (7, -4) 




 
12

1

12

1

xx
xx

yy
yy








 57
5

34
3






 xy

  2
5

1
3 



 xy

          2 (y + 3) = -1 (x - 5)
             2y + 6 = -x + 5
 2y + 6 + x - 5 = 0
      x + 2y + 1 = 0

144)    





(6, 10) (14, 12) 





 
12

1

12

1

xx
xx

yy
yy








   614
6

1012
10






 xy

  8
6

2
10 


 xy

          4 (y - 10) = 1 (x - 6)
              4y - 40 = x - 6
                       0 =  x - 6 - 4y + 40
        x - 4y + 34 = 0
145) xy (-6, -4) 

 (5,  11)     
    

 




(5, -3),  (7, -4)
  x1, y1       x2, y2

(6, 10),  (14, 12)
 x1,  y1         x2,  y2



 
12

1

12

1

xx
xx

yy
yy








   65
6

411
4






 xy

  11
6

15
4 


 xy

             11 (y  + 4) = 15 (x + 6)

               11y + 44 = 15x + 90

                           0 =  15x + 90 - 11y - 44

       15x - 11y - 46 = 0

146) (-1, 2)  4
5





 y - y1 = m(x - x1)

         y - 2 = 4
5

(x + 1)

   4 (y - 2) = -5 (x + 1)

       4y - 8 = -5x - 5

   4y -8  + 5x + 5 = 0

         5x + 4y - 3 = 0

147) (3, -4)  7
5





 y - y1 = m(x - x1)

         y + 4 = 7
5

(x - 3)

              7 (y + 4) = -5 (x - 3)

                7y + 28 = -5x + 15

7y + 28 + 5x - 15 = 0

        5x + 7y + 13 = 0

(-6, -4),  (5, 11)
  x1, y1        x2, y2

(3, -4),   7
5

  x1, y1         m

(-1, 2),   4
5

  x1, y1         m







148) 20 
14 



h = 20  , r = 14 
 =  2rh

2014
7
222 

= 1760 
 =  2r(h + r)

)1420(14
7

222 

3414
7
222 

= 2992 
149) 154 



                4r2 = 154 

    154
7
224 2  r

                  4
1

22
71542 r

      22
772




r

        2
7

r

= 72
2
7

  

150)     

12 16 


r1 : r2 = 12 : 16

 2
2

2
1

4
4

r
r






1616
1212






16
9



= 9 : 16

151) 2 250 



h= 2  , r2 = 250 
 =  r2h

= 250  2
= 500 

152) 11088 
24 




V = 11088  h = 24 

21
763

1108824
7
22

3
1

11088
3
1

2

2

2








r
r

r

hr

                     

                   

             

(r) = 21 
153) 2 : 3
  
     



h2 = 2h1

3
2

3
1
3
1

2
2

2

1
2

1






hr

hr

3
2

2 1
2

2

1
2

1 



hr
hr

                
3
4

2
2

2
1 

r
r

                   
3

2

2

1 
r
r

           3:2: 21 rr







154) 4 : 7 



r1 : r2 = 4 : 7


3

2

3
1

3
4
3
4

r

r






3

3

7
4



343
64



= 64 : 343

155) 5 

4 1  



l = 5 cm, r = 1 cm, R = 4 cm

 = (R + r)l

= (4 + 1) 5

= 25 cm2

156)   







7
5

5040
3600

3
1
3
1

2

1

2
2

1
2








h
h

hr

hr

       

                h1 : h2 = 5 : 7

157.    



25, 67, 48, 53, 18, 39, 44

 =  L - S
= 67 - 18
= 49

= SL
SL




 = 1867
1867




       = 
85
49

158. 63, 89, 98, 125, 79, 108, 117, 68 



 =  L - S
= 125 - 63
= 62

= SL
SL




 = 63125
63125




       = 
188
62

       = 
94
31

159) 43.5, 13.6, 18.9, 38.4, 61.4, 29.8 



 =  L - S
= 61.4 - 13.6
= 47.8

= SL
SL




 = 6.134.61
6.134.61




       = 
0.75
8.47

       = 
750
478   = 

375
239

160)   

36.8 13.4 



 =  L - S
36.8    =  L - 13.4

36.8 + 13.4    = L
            50.2    = L

         L = 50.2







161) 13.67, 70.08



  =  L - S

13.67   =  70.08 - S

       S    = 70.08 - 13.67

                      S = 56.41

162.

   
 16-18 18-20 20-22 22-24 24-26 26-28




0 4 6 8 2 2

L = 28,  S = 18

 =  L - S

=  28 - 18

= 10

163.   


400-
450

450-
500

500-
550

550-
600

600-
650




8 12 30 21 2



L = 650,  S = 400

 =  L - S

=  650 - 400

= 250

164.  25.6 

  18.75  



          100     
x

     


C.V.

         1001      
25.6

     8.75 







100
6.2575.18

 =  4.8

165.

6.5 12.5 



          100     
x

     


C.V.

                 1005.6
     

12.5
    

     10065
     

125
    

       = 52
166. 

1.2  25.6 



          
100          




x
C.V.

         1002.1
        25.6 

x

     1002.1
     

25.6
    x

       .69    4x
167.   

15 48 



          100          



x

C.V.

            1004      
15

     8 




    


100
1548

 =  7.2

168.  n = 5,  x = 6 x2    765 



 =
22







 


n
x

n
x







 26
5

765


 36153

 117


100     
x

     


C.V.

        100817.10
     

6
    

          = 180.28

169.21 

    
12

1-
   

2n


      
12

1-
   

221


       
12

1-41
   

4


       
12
40

   
4



                               66.36   
                               =  6.05
170) 1 1 2
2   3 3 







 = 2
2

)1(


nn

= 2
2

)112(12




= 78  2
= 156

171)   4.5 

 5 



                      =  4.5

5

   =  4.5

172)   3.6 

   3   





                      =  3.6

   = 3
6.3

 = 1.2

          = (1.2)2

= 1.44

  
12

1-
   

2n


      
12

1-
2   

212


       
12

1-44
2   

1


       
12

2   
143



                               3.452   
                               =  6.9


